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saner jdaie1 

        

    

 

 

    

 – 

 – 

 – 

 – 
 

  
 

QBASIC     

 –(2A3 + 0.5B)2
 

 –XY 

 –(n1, n2) 

 – 
 

      

 – – 

 – – 
 

 

         

 –  –   – 

 



 

 
  

QBASIC    

 –(Compiler)     –Step 

 –(ESC)     –INT(X) 

         

 – 

 – 

      
 

 

            

 – 

 – 

 –(Secure Website) 

        
 

QBASIC 

           

 Print tan(15) / tan(15) * SQR(A ^ 2 + B ^ 2)  

 B = A / 5 
C = A mod 5 
IF C = 0 Then Print X + 2 
IF B = Fix(B) Then Print 2 + X 

 

 FOR C = 1 TO 1000 
   Print "Jordan"  
   End  
Next C 

 

 IF n1 < > n2 Then print n1 + n2   
  

   
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 

  
 
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1. 

N = 4 
FOR  X = N TO N STEP  X – N 
   Print X + 2 , 
NEXT X 
Print X 

2. 
LET B = –6.2 
IF int(B) = fix(B) THEN REM B = 4 ELSE B = 8 
Print abs(B)  

3. 

FOR N = 5 TO – 5  
   N = – 5 
Next N 
Print N  

4. 

IF X < 4 THEN 
   Print X , 
ELSE 
   END 
END IF 
Print  End" 

5. 
A$ = "Today_is_our:" 
Print a$ ; 
Print , "Exam" 
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 CLS 
 Print F5 ,,;"5" 
 INPUT A, B, X$ 
 CLS 
 REM END 
 Print "CLS" 
 REM X = A ^ 2 
 D = A + B – 1  
 PRINT D  
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